
IRP208SB-6U 6U Solid Panel Installation 

Included in this package

(20) M4 x 8 Screws

Installation Steps

iA
ENCLOSURES

Industrial 
Automation

Industrial Automation and Enclosures, Inc.  Tel: (516) 997-5050  www.IAenclosures.com

M4 Screw x 4

M4 Screw x 4

Step 1 Installing Ear Brackets

Step 2 Installing Top Cover

(4) #10-32 x 5/8 Rack 
Screws

(4) #12-24 x 5/8 Rack 
Screws

(2) 3U Main Panel

(2) 6U Ear Brackets

(2) Cover Panels

Step 4 Installing Completet

Step 3 Installing Bottom Cover M4 Screws x 3

Top Cover

M4 Screws x 3

M4 Screws x 3

Bottom Cover

M4 Screws x 3


